VARDREE HE & AR

(1) 240 cm? (2) 667 cm? (3) 132 cm?

1) EEE %x6x8=24 (cm?)

BIEREIE 8X8+8%X6+8%10=192 (cm?
XoT, REMIE 24X2+192=240 (cm?

2) EEMEIE 7x3%°=97 (cm?
BIEOEAFDEDE XX 27 X3=67 (cm) THEN 5,
BIEREIX 8X6r=487 (cm?
£oT, REMEIE 97 X2+487 =667 (cm?)

3) EMEMEIX 6X6=36(cm?

1 > DEEOEIZ % X6X8=24 (cm?) THBHMS,

RImMEIE 24X 4=96 (cm?
oT, REHEIE 36+96=132(cm?

(1) 72zcm® (2) 108zcm®  (3) 180°
(1) REDE S EROMDKRIIE 27X 6=127 (cm)

roT, BIEREI %x127r><12=727r (cm?)

2) EmEMEIE 7X6%°=367 (cm?)
XoT, REMEIZ 36r+727=1087 (cm?)
B3) BIYXWOFLADKEIR2a°LTHE

nXlszﬁ:’/Zn

a =180
E-oT, F0AF 180°



